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Algebra 2 Chapter 2 Pre-Test (B |

1.) (8 pts total, 4 pts each) For the following function, determine f(3) and f(-2).

f(x)=x2—4x+5

f0): (s-403)+5 £02)= (-2 -\l 15
q -12+S 4+3+5
Lcs)cz '3+5=E £CD)-17 l1z+S 17
b) f(x) = 25

2.) (8 pts total, 4 pts each) Suppos@) = 3,)1\—}nd gx) =x*+6

@Find Q. .|Zu) 2

For what value(s) of x wouI be a function, if any.
“ C = IS

9= (5 +b =+l = 1S :@
£2) - 32)-S ©-5 ‘

ﬁ;shict@;ﬂ > Feachm— A‘“\M # O
ﬂ,c-l e mui“' Lﬁ > 0
b) \Find f(-1) - g(Q)

For what would f(x) - g(x) not

fFerrto



3.) (8 pts total, 2 pts each) Which of the following graphs represents a function? Write either
“function” or “not a function”.

a) ¥ b) ¥
%L}W vz

d) y\

e !

X X

4.) (8 pts total, 4 pts each) Write the equation for the line formed by each slope and point.

Include @d point-stope-forme—
(-2,4),\m=-3 ‘j'—W‘x*l” &:—Z /
AR

b) (0,-5), m="%




5.) (8 pts total, 4 pts each) Find the slope and intercepts for each of t ing lines:
4x + By = -12 Z

Z
Ax +8u =C 3 X

tx i—(ﬂ% =-lz

gy
i $lo?€—='é B
Y=o Yx +lg =-12
J 4.2 |
e T B A g
g = -%x-12 CoL
--12 ~Are-3 e
\‘H‘; -3 %é,- ¢ 6 * A
b) 7x - 2y = 10 3

6.) (8 pts total, 4 pts each) Find the slope for each of the following:

@(-5, 3)and (7, -1)

-
<\ ope = Y- G -l =3 el S & -
P v [,f) 14S Lz -y

xb’xr

b) (-2, 6)and (4, -9)



7.) (8 pts total, 4 pts each) Graph each of the following

equations:

5x - 10y = 20

- BN W RN N B W

10k =D b X =20 u |

)\’/O Lj - =2 X =4 5;0
(/O,«Z) C L‘, 0)

-3
-2
-5
-6
-7
-8
-9

b) 16x + 8y = 48

< >
-9 -8-7-6-5-4-3-2-1 1 23 456 7829

O R e i T P iy o T
L N — MW RV Y B W

8.) (8 pts total, 4 pts each) Determine the equation for each of the following:

rite the equation for a line through (-2, 7) and perpendicularto y = -2x + 5.

Given s\ope \3 \M\L-PL

opp =X
peep slope — 22 -y
m-t (2 N
b) Write the equation for a line parallel to y = 3x - 2 that ough (1, -3)

N
[0




9.) (8 pts total, 4 pts each) Each of the following depicts a direct variation function. For each,
find the constant of variation and show the relationship in an equation.

Ify=12whenx=3 3=\£X 'L’-_lj_

o
—>Find y when x =9

b) Ify=-6whenx=15

Find x wheny =2

10.) (8 pts total, 4 pts each) For each of the following, determine whether y varies directly
with x. If so, find the constant of variation and write the equation.

a)
T Tell
-1 -4 —é{l_ 2@
2 8 | 9 @ c%(
3 12 l% 9 j

b)

[(jf L e
Qe | '




11.)
value function. Then graph the function.

a) f(x) = [2x +3] -5

A

=~ L y
2<% Z%T,_L}
f(x)=|1_/26—_2|+6
Lo
z 2z

-
-

y | 70-1)| 6

12.)
value function. Then graph the function.

a) f() = |x 6| (0
(

(6 pts total, 3 pts each) For each of the following, find the vertex of the absolute

<
-9 -8 -7 -6 -5 -4 -3 -2 -1

>
1 23 45678289

<
-9 -8 -7 -6 -5 -4 -3 ~2 ~1

P
12345674839

(6 pts total, 3 pts each) For each of the following, find the vertex of the absolute

e R S N )

=+
-9 -8 -7 -6 -5 -4 -3 -2 -1

R R e i Vo
R N

>
12345678389




%

<
-9 -8 -7 -6 -5 -4 -3 ~2 ~1

©
H

P
12345674839

R SR P W T Vi
R N = wdlh o uw e @

13.) (8 pts total, 4 pts each) For each of the following, graph the inequality.

< >
-9 -8 -7 -6 -5 -4 -3 -2 -1 1 23 45678789

R SR P W t
R I HM W R D N ® W
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